Stoichiometry Exam Review Stations

Name ________________________

Chemistry GT 2014
1. In the reaction that follows, how many moles of Cu will be produced from 5 moles of Al?

3 CuSO4 (aq) + 2 Al (s) → Al2(SO4)3 (aq) + 3 Cu (s)

2. Solid iron(III) bromide reacts with chlorine gas to produce solid iron(III) chloride and liquid bromine. According to this reaction, how many moles of FeCl3 will be produced from 6 moles of Cl2?

3. In the unbalanced reaction that follows, how many grams of aluminum chloride will be produced from 92 L of chlorine gas?

AlBr3   +   Cl2   →   Br2   +   AlCl3
4. In the reaction that follows, what volume of oxygen is needed to combine with 87 g of lithium? Be sure to balance the equation first.

Li (s) + O2 (g) →  Li2O (s)

5. Magnesium oxide reacts with water to produce magnesium hydroxide. According to this reaction, how many grams of magnesium oxide are needed to produce 264 g of magnesium hydroxide?

6. In the reaction that follows, how many molecules of sulfuric acid are needed to react with 15 grams of ammonium hydroxide? Balance the equation first.

 NH4OH + H2SO4 → (NH4)2SO4 +  H2O

7. How many grams of magnesium nitrate are needed to react with 549.6 g of potassium carbonate? The unbalanced equation for the reaction is the following:

K2CO3  +   Mg(NO3)2    →   KNO3   +   MgCO3 

8. Determine the mass of iron produced from the reaction between 100. g of sodium and 100. g of iron (III) oxide. First determine the limiting reactant. Then determine how much excess reactant is left. Be sure to balance the equation first
6Na   +   Fe2O3    →   3Na2O  +    2Fe

9. A plant has 88.0 g of CO2 and 64.0 g of H2O available for photosynthesis. Determine the mass of glucose produced. How much of the excess reactant is left over?

6CO2 + 6H2O ( C6H12O6 + 6O2
10. Determine the percent composition of O in CuSO4.5H20.

11.  Determine the percent composition of P in Mg3(PO4)2.

12. Determine the empirical formula for the compound using the data listed below.
32.4% sodium, 22.5% sulfur, and 45.1% oxygen

13. Determine the empirical formula for the compound using the data listed below.
40.68% carbon, 5.08 % hydrogen, 54.24% oxygen
14. Determine the molecular formula of a compound that contains 30.45% Nitrogen and 69.55% Oxygen. The molar mass of the compound is 92.02 g/mol.

